ICT Coursework 2008 Problem 2

ICT Speciification A
2008 AQA GCSE

Problem 2

Microsoft*

Microsoft Office P Bl

This product is licensed to:

HOME

This data carmot be viswed for legal
reasoning.

Copytight@ Micrasalt Carporation 1985-2001,
All vights reserved, This program is protected by US and
intetnational copyright laws as described in Help About,

By Ram Kanacdia
10 SAB

By Ram Kanadia 10 SAB Page 1 of 30



ICT Coursework 2008 Problem 2

CONTENTS

Introduction

Software Justification
Software Final Choice
Hand Drawn Plan 1

Sheet 1
Sheet 2

Evaluation of Hand Drawn Plan 1

Sheet 1
Sheet 2

Hand Drawn Plan 2

Sheet 1
Sheet 2

Evaluation of Hand Drawn Plan 2

Sheet 1
Sheet 2

Testing Plan
Implementation
Testing

Table
Screen shots with references and explanations

Evaluation

Texts
Table

Main Presentation
Sheet 1
Sheet 2

Sheet 1 showing formulas
Sheet 2 showing formulas

By Ram Kanadia 10 SAB

Page 3
Page 4-6
Page 7
Page 8-9

Page 8
Page 9

Page 10-11

Page 10
Page 11

Page 12-13

Page 12
Page 13

Page 14-15

Page 14
Page 15

Page 16
Page 17-21
Page 22-26

Page 22-23
Page 24-28

Page 29-30

Page 29
Page 30

Page 31-34
Page 31
Page 32

Page 33
Page 34

Page 2 of 30



ICT Coursework 2008 Problem 2

Introduction

I again have been given the role of Bernie, however I have been given another problem to
find a solution to. I need to create a system for Barry, who is currently responsible for
marketing and he wants some help with working out costs for his latest idea of creating

DVDs showing the different attractions at the park.

There are going to be two different types of publicity packs, one being the standard pack
and the other being the ticket agent pack.

I will need to create two hand drawn designs before starting to create the actual system.
This will help me to use the best and most simple layout while creating the formulas that I
will need to use. Consequently I will need to evaluate my designs, and then go to choose

the correct software to use, after my choice I can begin to produce the system.
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Design Section

In this section of the tasks (problem 2) I have been asked to produce a system which will explain and
work out the details of selling such items as DVDs in packages. There are two different types of
packages which I will have to find out the cost of producing. The first is the Standard Pack and the
other is the Ticket Agent Pack. However in order to find out the cost of producing such items I will
have to consider the following;

=  The appropriate software which will allow all operations and functions needed in the course.
= Planning the solution which means producing design plans that will be followed by the
implementation showing how the system was built.

For this task there is a wide range of software I can use. Initially I was thinking that the only choice I
have is to use the programs provided by Microsoft Office 2007. But after looking deeply in to
alternatives I found two other programs. However I had to asses these before making my final choice.
So like in Problem one I created a table which would show me the advantage and disadvantages of
each. With the use of this I could weight out the advantages with disadvantages. The three software I
could choose from were the choices I had were Microsoft Excel, Microsoft Works Spreadsheet, and
finally Ashampoo Office 2006 (spreadsheet).

The use of Microsoft Offices’ Excel was one of the first ideas; the reason for this was simply that; I had

experience with the package, while knowing that the main features I needed were available. The
application can be used in a wide variety of contexts.

Ashampoo office 2005

Advantages

Disadvantages

Ease of updating information, if data changes
it is just a matter of deleting the old and
replacing it with the new.

The school system doesn’t actually
contain the software so it would be
difficult to import work from home to
school and vice versa.

Word-search capability, which means if a
specific word or numeric data needed
replacing or modifying, it could be done
efficiently.

Initial investment of time to migrate
content

Portable (it does not take up as much space on
removable drives as equivalent software)

Only the 2006 version is available to
me which does not contain all the
features and functions I need to use.

Aesthetic enhancement of content

Can be confusing to use.

The ability to present complex concepts in a
concrete manner, as there are three sheets
which I can use to split the data up into
specific sections.

There are limited resources I can use to
recover data in case of loss.

Intricate to use (all functions may not
be known)

By Ram Kanadia

10 SAB

Page 4 of 30




ICT Coursework 2008 Problem 2

MS Excel

My second choice was MS Excel, it has numerous advantages and disadvantages, my main reason for
considering this programme, was the fact that it was able to produce advanced calculations on
numerous pages while still being able to create accurate answers on specific objects to other pages.
Below is also a table as the one formed previously.

Advantages Disadvantages
It is able to perform complex calculations | Installation for this software is slow as
automatically with uses of formulas. many options are available on offer, and

it occupies a large amount of memory.

The program makes it easy to use. The applications functions are difficult
to find unless fluent with the program.

Designed for this very use as it can perform
functions unavailable in the other software’s
evaluated in this section. It also has a wide
range of help offline and online, which
means loss of data will not be a problem as
it can be recovered efficiently.

Available both in school and outside which
means the task can be completed more
efficiently rather depending on one
computer which holds the application.
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Microsoft Works Spreadsheet

My final choice of software is Microsoft Works Spreadsheet, it may not be the most obvious choice but

it has all the capabilities, as it uses a similar template to MS Excel. It lets me use it without becoming

too complex; however there are not all the functions which I may have to use in order to retrieve
accurate results. This was the reason why this software was popular choice. Again, like the above I will

produce a table to show the contrast of advantages and disadvantages as well as using it for a
comparison between all programs.

Advantages Disadvantages
It is capable of producing the interactive | It was not initially designed for the use
presentation. of interactive presentations.

It can import and edit specific images and | I will have to bookmark the pages
text without the help of other software | before putting hyperlinks in place.
packages such as Microsoft Paint to crop an
image.

I am able to hyperlink images and | It is a lengthier process than creating
identifiable words in order to follow users | the same model on Power Point.
onto other pages.

I can view pages as web pages to test the
model, as well as view the actual
presentation in partial or full working order.

I am aided with automated Spell Check,
which will underline incorrect spelling or
structure and is not available on Power
Point, unless selecting the option.

There are more much needed toolbars
available which simplifies the extensive
task.
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Conclusion of software choice

After comparing the tables, it is obvious that my first choice has not got the sufficient advantages and

tools available to complete the task in hand; this means there is now only a choice between MS Excel

Microsoft*

This product is licensed to:

Microsoft Office ¥ B8]

HCME

This data carmot be viewed for legal
reasoHINg.

Copyrighti€ Microzoft Corporation 1985-2001,

All vights reserved. This prograrn iz pratected by US and
international copyright laws as described in Help About,

and MS Works Spreadsheet. In my
opinion I think that MS Excel is
competent to complete the task more
accurately; this is because the program
allows me to use functions unavailable in

MS Works Spreadsheet.

Also that program, as mentioned before
is mainly used for meetings to let
members view ideas without using the
model as an interactive presentation.

This was the main deciding point to why

I chose to use Microsoft Excel as the program to generate a system to show the costs of producing

specific packs which will be sold to individuals and ticket agents.

Microsoft Excel is extremely popular which emphasises the quality and usefulness of the program

itself. Since I have used it previously I know how to navigate my self around the application which

insures that the task will be completely more efficiently.
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Evaluation of Hand Drawn Plan 1
Sheet 1 of 2.

In the subsequent text I will be evaluating my hand drawn plan 1. I will be explaining
formulas and formula references and text. I will also be justifying my choices for font
colours, effects such as bold, italic and underline, plus the use of special featuresfor
instance the '$’ sign.

Layout; I have chosen to split the data up into two sections and so I can paste it
into the two different sheets giving a clearer layout. Sheet 1 consists of the
actual table showing initial costs. The process of calculations will be shown
on Sheet 2. Then final totals can be shown on the first sheet giving clarity

to the system. Also this makes the data seem less overwhelming.

Formulas; Only simple formulas are used on the first sheet, these are ones such as
'=C22*C24’'. This means that there is less chance of there being a fault
with the calculations on this page and can be narrowed down to the caus
if there was to be one. I have only used the '‘SUM’ function when
calculating totals for the tables specified in the booklet itself. On these

formulas I do not have to use the $ sign as all references differentiate.

Text types; I only want to use one type of font to keep the layout less complex. I will
be using ‘Times new roman’ to give it simplicity and clarity. Also I will be
using different colours for the totals to put emphasis on the different

packs.
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Evaluation of Hand Drawn Plan 1

Sheet 2 of 2.

As above I will be evaluating the hand drawn plan 1, however unlike the above I will be

evaluating the second sheet ensuring the specifications are clear for the task in hand.

Similarly I will be explaining formulas and formula references and text types/styles. I will

also be justifying my choices for font colours, effects such as bold, italic and underline,

plus the use of special operation, for instance the references to different sheets (='Sheet

1'! followed by the cell reference.).

Layout;

Formulas;

Text;

on this sheet I am going to show raw calculations while still trying to keep
a simple look. I have kept the upper half for the standard pack and the
lower half for the ticket agent pack calculations. I will resize the columns
so that the text and numeric data fits into the cell. I will want to keep the
data clear and allow for the data to be adapted just in case the costs

change.

I will be using more complex formulas in this section as I will need specific
cell data from the previous sheet. Also since I have renamed the sheet it
self the reference needs to include the new name for the sheet. However
despite the multifaceted formulas the way it is laid out means that the final

appearance makes it easier to understand.

Again like the pervious sheet I want to use a simple font and colours to
make it more comfortable to the eye and so it is easier to change data just

in case of modification of costs.
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Evaluation of Hand Drawn Plan 2

Page 1 of 2.

As I did in the pervious evaluation of hand drawn design 1 I will have to analyze the

content as well as the overall appearance keeping in mind the cell references and formulas

which are vital when working out the costs as they have to be extremely accurate. I will

also justify all effects put on text and backgrounds.

Layout;

Formulas;

Text;

Rather than splitting the data up into two sections I will just keep all the
data on one sheet. Also I will make extremely sure than the data has

superior clarity in terms of appearance.

There is only four formulas used on this page. Only simple formulas are
used in this section of calculations. These are ones such as
'=SUM(D14:D16). I have only used the ‘SUM’ function when calculating
totals for the tables specified in the booklet itself. This function makes it
easier to calculate totals than click on each cell and press the + sign

constantly as that is very time consuming.

Again like the above sheets I want to use a simple font and colours to
make it more comfortable to the eye and so it is easier to change data just

in case of modification of costs.
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Evaluation of Hand Drawn Plan 2

Page 2 of 2.

As I did in the pervious evaluation of hand drawn design 1 I will have to analyze the
content as well as the overall appearance keeping in mind the cell references and formulas
which are vital when working out the costs as they have to be extremely accurate. I will

also justify all effects put on text and backgrounds.

Layout; I will ensure that the data has superior clarity in terms of appearance.
There is not a table showing the final costs, instead there is specific cells

beside calculations showing costs and amounts needed.

Formulas; The formulas are basic on this page, mainly because there are not two
separate sheets. This means that I do not have to include a reference for

that specific sheet which the data is held on.
Text; Again like the above sheets I want to use a simple font and colours to

make it more comfortable to the eye and so it is easier to change data just

in case of modification of costs.
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Testing plan

In this section I will be creating a table which I will use in the near future to test if spec ific functions

worked or not.

Test | Purpose of test Testing data Expected result Actual Result

no

1 To see if all Must show all costs
formulas are in
working order.

2 See if the validation Must not allow less than
rule works. 1000 packs

3 Must show that the Must be able to enter
validation rule s total number of packs
not faulty and
allows for a larger
amount to be
entered.

4 To see if the Must show the cost of
formula works making and sending out
along with the one standard pack
specified data.

5 There should be no Must be able to enter
rule blocking a total amount of ticket
custom amount of agent packs
packs.

6 The formula allows Must show total of
for the data to be making and sending the
calculated leaving packs
accurate results.

7 Show all formulas Must produce correct
work in order. answers

8 To see if the cell Round up the number of
has been formatted people paying for the full
correctly. entry fee

19 To see if correct Must show amount of
results are people needed to cover
outputted. costs

Currently I cannot fill in columns, this is if the function worked or not and testing data. I can only fill
this in once I have created the system. I will need to test numerous things as well as continue
explaining each process with a screenshot and a short description of what I did in order to test the
model.
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Implementation

The following will show the steps I took in order to produce the system. This includes using

screen shots to represent processes.

No.

Screen shot

Explanation

Microsoft*

Excel

Microsoft Office xP B

This product is licensed to:

HOME
This data cannot be vievwred for legal
TeASONINE.

Copyright© Microzoft Corporation 1985-2001,
All rights reserved, This program is protected by S and
international copyright laws as described in Help about,

I had chosen MS
Excel as my final
choice, so the
first thing I
could do was
open it up and
save the sheets
in ‘My
Documents’.
This would help
me save my
work more
efficiently later
and prevent loss
of data.

] HEE
E] Ele Edi Ve et Fomat Toos Dats Mindow Help
MY SRY|[$BB-F o-o- @z A4 ma 0w -3

Type a question for help [l

~ Arial 10 F B I U = g R A
[SE A 315
A B [ c [ D | E T F | ® [ i
1
Z Ill_eln Cost Other Data
[3] Filming for DVD £3 500 00| for all flming
[4] ost for first 1000 DVDs including delivery £500 00[for 1000 DYDs
5 xtra DVDs including delivery each
[ 5| elivery of box of 100 tshirts 5
[7] eaflet and posters set ﬁ
8 ostage for standard pack 5|
[9] xtra postage for ticket agent pack 1.80]
10 TOTAL £4.008 80)
[11] T-Shirt Small Wedium Large |
[12] Cost of T-shirts BER £1.75) E2.00)
[13] Cost of printing £0.9§) £0.95] &0 s?l
(1] Cost of packages 2020 =0.00] 2020
18 TOTAL E2E) 2290 F3.15) d

El
)

Slaas

i
R~

EREIER

e

4

0
&
"

]

¥k, Sheetl {EHERE F ShERE 1l 1 _~L|'J

Ready
5| 2 & || Epob2- oo, | _uZEN | ElMiorosot Evc. | [R]Microsore | [, il BEIDIO Sl 1438

| 5 Lethalbizzle .| _gDoc's

The first task I
had to complete
was to copy up
the tables and
grids provided in
the booklet. I
positioned it in
the way shown
in the plan.
However I
added minor
improving

elements.
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File Edl WView Inset Fomal Toole Data  Wirdow Help Type a question for help. [ @ 3¢

Doy &EY L B@E-a-c-w = -8 2 e o Bl

Aial AN EB I ESSEE%, RaEE -5 A-
EB1 - %

A B I 5 I D I E [
[ 34]
ES
)
]
)
E:3
(40| Standard Pack
]
[42] Price
[ A leaflet and poster
[ VD
[45] ostage costage
[46 Filming
[47 | Total
[46] "
49 E,
50
[51] Ticket Agent &
- (
|53 Price o=
54| Filming
55| DVD
2 Delivery
(57 Standard Postage
[ 52| Extra Postage
53] 1 Small T-shirt
60| 1 Medium T-shirt
61 | 1Large Tshirt [ 1
[62] Leaflet
63| Total
[ 64
65
) -
4 ¥ Sheeut {TBhEEE  Shee L1 1 51
Ready

sten | ] & 5 O || Fjpob 2 Mismsolt | _JZEN | 20 Dbz | sweer .| [l Microsot Evcel- .| [ Microsoft Exce . |\ sl Zedlla: 2 L17] 142

I thought the
easiest way to
get accurate
results was to
complete the
table with the
items included
in the packs. I
changed the
layout so I use
the box of totals
but use the
calculations
lower down on

the same page.

‘) Fle Edi Wew Incei Fomel' Teos Dota Window Hep Tyme  question o help (1180 3
0

BRI ERY L BR-T oo s -4 H S -,

Al 0. B U EEEEE %, WM EE B-AL
ca7 e ”
3 I El I i T il I |
[31]
[32]
(3=
(34
12 Bl G R0 G|EE BEA
[37] Standard Pack
|38
[39 Price
[0 Aleaflet and poster =Final Costs'C7
[ 41] VD =580/ Final Costs1B22
[42] ostage costage =Final Costs'C8
[43] Filming =Final Costs'C3/Final Custs'E22
24| Total =SUM(CA0:CA3)
45| (
| ] g
7 1
(5| Ticket Agent i o9
9 &
H : -
51| Filming
[52] DVD
(53] Delivery
[54] Standard Postage Costs'C
[55 Extra Postage Costs'C
| 56/ 1 Small T-shirt Costs1C15
[ 57 1 Medium T-shirt Costs1D15
) 1 Large Tshirt =Final Costs'E15
S| Leaflet =Final Costs'C
i Total =SUMICE] C59%)
61
|62,
122 e
4 FRIOI), Final Costs (a2 e i i
Ready

st || 1) & 2 [ || @Ypob2- Mool | —yzEH | N Dbz | swear | [EMicrosoft Exce. | [bismschExcel fi. | LBl LETAD) 2 A 1452

The next stage
is to enter all
the calculations
and formulas in
to the space
left. Since I
changed the
layout slightly I
had to adapt the
formulas that
were in the
plan. The
formulas are
shown on the
left.
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Fle Edit Yew |nset Fomat Jook Data Window Help Type a question for help 51 IEIREINSE
DS 8R_RY BB oro- R =215 )15 -3,
el =10 |8 7 O B8 %, 8% =Sl
B mES AL EEEE,
c47 - A
A B (¢} =
| 39 | Price
| 40 | A leaflet and poster ='Final Costs'IC7
| 41 DVD =580/'Final Costs'|B22
42 Postage costage ='Final Costs'IC8
|43 Filming ="Final Costs'IC3/Final Costs'1B22
|44 Total =5UM(C40:C43)
45
46
47| [ |
|48 Ticket Agent £
49
|50 | Price K\:‘({ £
|51 Filming =C43
| 52| DVD =C41
| 53 | Delivery 0.15
| 54 | Standard Postage ='Final Costs'IC8
| 55 | Extra Postage ='Final Costs'IC9
| 56 | 1 Small T-shirt ='Final Costs'IC15
| 57 | 1 Medium T-shirt ='Final Costs'ID15
| 58 | 1 Large T-shirt ='Final Costs'lE15
T p— Iupaflﬂf ='Fi|LaI Cnsts'ICT ﬂ_'ﬂ
Ready
fsten]|| 2] @ 2 () || Epob2:Misosot | _uzEN | #50 Dube- | swesr - | [ Microsott Exce . [R]Mismsoh Excal-ti. | | BEANAIE L] 1453
‘&) Fle Edi Vew Iwset Fomel Tooks Dala Window Help Type & question for help 8l fm @ 26
DEHoy SR Y B a-o- &= -2L2 i 503

el wkBmzu B 9%, @58

C34 - A
A B c

14 Cost of packages
[15 ] TOTAL

|19 STANDARD PACK TICKET AGENT PACK

21 Standard Packs Sold Ticket Agent Packs Sold

22 1200 50
23 Cost per Pack Cost per Pack

24 £5.00 £15.65
25 Total Costs Total Costs

26 £6,000.00| £782.50
27 Amount of persons needed to cover costs Amount of persons needed to cover costs

28 240 31

e A.Ij

£
i 4 WICHATH Final Costs {7BHESE A Shee
Ready

fsten]|| o] & 5 () || Epob 2t MisosotWod | _ZEN

| B Dbz - | swear - Wind. | [ Microsoft Excel - €L |1 5o B AADE L] 1457

The final stages
were to
complete this
table, in order to
find accurate

results.

These formulas
were more
advanced and
complex, but
since they were
on the same
page it was
stiller more
simpler than if
the data was
split up into two
different pages.

As you can see
two different
colours are used

in order to
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B
‘&) Fle Edi Yiew lnsed Fomel Iook Dats Window

DEdan &% Faa-<F -

34 - A

Help

G E LB .
Arial -10 - B 7

DiErir R 0L EE A,

emphasise the
two different

packs.

Type & quest

U EE=EHP %, B0

14 Cost of packages

0.2

15 | TOTAL

=SUM(C12:C14)

16
17

18

19

20

STANDARD PACK

21
22 1200

Standard Packs Sold

50

23
24 |=Final Costs'IC44

Cost per Pack

='Final Costs'|C60

25
26 |=B22"B24

Total Costs

=C22'C24

27 |Amount of persons needed to cover costs

Amount of person:

| 28 =B26/25
|29
|30
31
|32
33

=C26/25

A D Final Costs { iz SR
Ready

s 14 & 2 O

|| B prob 2 Misosoftwiod | _uzeN

| #51 Dbe - | swear - Wind.. | [ Mierasoft Excel - €L

| P
I ] _'LlJ

[SEH TR 2T 50

Fle Edi Yew lneit Fomat Took Data window Help

Type a question for help B[S T %

Ready

Astan]|| (1 & & B || Bpeb 2 Micschtword | yzen

| 2 Due-

~
DEdaxn SRAY sBRR-F o-c-@=-4il@so: -0, 3
&)
Aial S0 HlB O B P %, @8 EE ,vL( i
34 - A e =
T 5 T T T 3 T 3 T & T " 7 T S
I rac “ﬁ
[ o
FrEn
Fa
pexs| _
fris
P
7
i
] Fet o
IR 1Ll 1 et

I swear - Wind_|[]Microsoft Excel - CL... | |5 LE@I2 ST 150

This final slide is
showing the
final costs
formulas. This is
the last screen
shot before
testing it. The
finished system
is shown in the
two screenshots
below the one
on the left.
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Amount of porzon: weededto cover coztz

Amoun: of porson: necded to cover costy

Standard Pack

A leaflet and poster &0 65}
DYD. 0.4
Poctage costage <035}

g [EXE
Total s 00]

Ticket Aqeat

YD
.11
andard Postage 0.3
[Extra Postage £1.50)
T <26

- i3
e T T T
Toxt
£3,500.
500
caflet and posters
ostaqe for standard pack
Extrs pastage for tickst sqeat pa
TOTAL £4,005.50]
s Torac
Cost of T-cl £ £1.50] £1.75) £2.00
Cost of priating 0.5 TR w03
Cost of packages £0.20] £0.20} £0.20
ToraL 263 ca50) rx
STANDARD PACK TICKET AGENT PACK
Tondord Pocks 5o T oot Farks Sord
200
Castpar Pack Castper Pack
£5.00) £15.65)
Torl otz Tt Corts
&5,000.00 argz0

m
al Costs { Shest2

hest3 /.
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Testing

I will now copy and paste the table I produced before and consequently complete the

columns I left out at that earlier stage. I will use screenshots, which are linked via the

number on the first column.

Test | Purpose of test How? Expected result Actual Result

no

1 To see if all| Isthere any empty | Mustshow all costs There are no empty
formulas are in | space where a spaces, and so all cells
working order. formula was put in are filled in, in the

place? (Failure if correct manor.
YES)

2 See if the | Can I enter 999? Must not allow less than | I typed in the number
validation rule | (faulty if YES) 1000 packs 999 and it came up
works. with an error message

which I put in place
with a validation rule.

3 Must show that | Does the validation | Must be able to enter You can enter any
the validation rule | rule allow for more | total number of packs number above 999, for
is not faulty and | than 999 packs? (if standard packs, and
allows for a larger | NO the validation any number for ticket
amount to be | ruleis incorrect) agent packs.
entered.

4 To see if the | Do the costs equal Must show the cost of It does show correct
formula works | the correct costs making and sending out | costs while showing it
along with the | shown in the one standard pack in a simple format and
specified data. booklet? (if YES the layout.

formulas and costs
are correct and I
can proceed)

5 There should be | Is there a validation | Must be able to enter It allows you to enter
no rule blocking a | rule put onto ticket | total amount of ticket any custom amount of
custom amount of | agent packs? (If NO | agent packs packs to produce.
packs. it is correct and I

can move onto the
next step.

6 The formula | Do the accurate Must show total of As the screenshot also
allows for the data | results show? (If making and sending the | shows it does allow for
to be calculated | NO the formulas packs the costs to be seen.
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leaving accurate

results.

are wrong and need
to be adapted so it

is correct)

Show all formulas

work in order.

Do they produce
correct answers
according to data
given? (If YES the
formulas are
correct and I can

move on)

Must produce correct

answers

As explained in the
screenshot space, I
have compared results
and my results are
accurate and correct as
the ones provided in
the booklet.

To see if the cell
has been
formatted

correctly.

Has the cell been
formatted
correctly? (If yes
there is no problem
and should come
up with correct

answers)

Round up the number of
people paying for the full

entry fee

I have formatted the
cell so the total is
rounded. Rather than
31.30 coming up only
31 shows, this proves it

is correct.

To see if correct

The final formula is

Must show amount of

This is also correct as

results are correct, and all people needed to cover shown in the
outputted. steps have been costs screenshot.
followed correctly.
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Screenshots

These are the screen shots to match the testing grid above.

Test
No.

Screen shots

1

@ Ele  Edit View |nset

DEedony &lay

Format  Tools Data  Window

Help
Py R R R TR AR

HEl

Type aquestion for help B R0

mount of purzon needed to cover costs | Anunt of perzens needed to sover sosty
£ 3

Standard Pack

Arial <10 EHB F O 8 5%
C34 ~ A
A | E i I E | F I G | H
T
2 Cost Dther Davs
3 q for DVD £5,500.00] for 3l iming
F For First 1000 D¥Ds iacladis £500.00] for 1000 0¥z
5 Extrs DYD: including delivery 0] sach
5 Delivers of bor of 100 t-shirts
T Leafler 3nd poste
E] Postage For stan
3
£4,008.50)
q Small Hcdinm Large ]
Ik 201
ng 2031} €035
Coct of packager £0.20) £0.20)
TOTAL £2.30} £3.15]
SIANDARD PACK LICKET AGENT PACK
E Tndw ot Eold T P P
[ 1200}
I ozt par Fack ozt par Fack
[ £5.00) £i5.55]
I Total Cocts Total Cocts
I £5,000.00) £752.50

i

I Price
A leaflet 3nd poster 5
[ D¥D 48
[ 9t costage .58
[ 4 g 32
00
[ Ticket Ageat
[ Price
FEEH
€045
[ £0.1]
[ Standard Postage 0.57)
[ Extrs Postaqe £1.50]
15, t2.61]
i« v Wiy Chal j, Final Costs { Gheel 7 Sheets /.

Ready

Hstart|| 1] @ 5 O

J prob 2 - Microsoft \word

11 |

N Dubz - | swear - Wind... || ] Microsoft Excel - €L | Ecfl S A0S £ 1527
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[ Ele Edi Yiew lnset Fomat Toolks [Dats  Window Help Type a question for kel ]ISl 3¢
3% | b DB o oo @2 -8 3| AE T - =
- Aial H10 E B 2| == QERRDR - /’.:“
i B 03 *fouw cannot perform this, please type I\F =
A B c | in a whole number more than or \ a/;
|1 equal to 1000, -
2| Item Cost Other Data
g Filming for DVD £3 500.00]for all filming ggg_tj_f Cancel
[ 4| Cost for first 1000 DVDs including delivery £500.00]for 1000 DD~
|5 Extra DVDs including delivery £0.40Jeach
| B | Delivery of box of 100 tshirts £5.00
| 7| Leaflet and posters set £0.65
[ & | Postage for standard pack £0.95
= Extra postage for ticket agent pack £1.60
|10 TOTAL £4 00880
|11 T-Shirts Small Medium Large
| 12] Cost of T-shirts £1.50 £1.75 £2.00
113 | Cost of printing £0.95 £0.95 £0.95
|14 Cost of packages £0.20 £0.20 £0.20
|15 TOTAL £265 £280 £315
16
7]
|18 -
e STANDARD PACK TICKET AGENT PACK
20
___1: Standard Packs Sold Ticket Agent Packs Sold
122 989 50
123 Cost per Pack Cost per Pack
|24 £5.65 £16.33
125 Total Casts Total Costs
| 25| £6 67840 £816.70
| 27| Arnount of persons needed to cover costs Armount of persons needed to cover costs
|28 27 a3
23
120
EiN|
|22
33 -
i 4 ¥ W Chatti , Final Costs ( EBheet2 Ji Shestd . (KX 1 H_H
Ready
30 Start H ] H B prob 2 - Microsolt word | JZEN |_‘@N Dubz - | swear - Windo: | [&] Mictasoft Excel - CLASS Dl ’2&55@-&@@&9 1528
£ - [5]x]
S| Ele Edi Yiew [nset Fomat Tools [Dats  Window Help Type a question for kel 5] ISiEl 3¢
NEeday @By BRI oo 8= -1 4 il 2 3, -~
il CnrlnrulE==EHT %, 9 O- %83
522 - # 1200 t
st i
A B &
9 Extra postage for ticket agent pack
10 TOTAL
11 T-Shirts Small
12 Cost of T-shirts
13 Cost of printing
14 Cost of packages
15 TOTAL
16
17
18
19 STANDARD PACK TICKET AGEN
20
21 Standard Packs Sold Ticket Agent Pe
22 1200
23 Cost per Pack Cost per F
£5.00 g
i T i, CHaRT, Final Costs (TEhests f SHeed 14l LLIJ
Ready
30 Start H v @ G H B ]prob 2 - Microsoit word | JZEN | [ N Dubz - | swear - Wind... |Micmxnll Excel - CL... ‘&5@%‘@@@? &7 15
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S| Eie Edt View Inset Fomat Tooks Dsta MWindow Help Type a question for help F]ISi@ %
NEHANSEY | BB o o- e =40 e o -0, =

- avial 0 ElB ZU B |9 %, W O - 0D 8o

B22 - & 1200 B“g :

A B | v, 55

0
(1]
1]
IHI
i
i

16
17
18
19 STANDARD PACK TICKET AGEN
20
21 Standard Packs Sold Ticket Agent Pe
2 1200
23 Cost per Pack Cost per R
24 £5.00
25 Total Costs Total Co
26 £6,000.00
a2y Amount of persons needed to cover costs |Amount of persons nee
28 240
29
30
31

-
ii <+ i\ Charti }, Final Costs JGhest 2 Gheetd | LUJ
Ready

Hstar|| 1] @ 5 ) || Elpob 2 - bizwsoltword | —yZEN | 1N Dubz - | swear-Wind.. | [ ] Microsoft Excel - €L | 5l ZLEAI0 A1) 1530

S| Eie Edt View Inset Fomat Tooks Dsta MWindow Help Type a question for help F]ISi@ %
NEHANSEY | BB o o- e =40 e o -0, -
el B0 ERaRuN= A - B

U E s A =B o

B22 = & 1200 @
= 4
c | D A

16
17
18
19 TICKET AGENT PACK
20
21 Ticket Agent Packs Sold

2 50
23 Cost per Pack

24 £15.65
25 Total Costs

26 £782.50
27 |Amount of persons needed to cover costs
28 31|
29
30
31

=
i 4 v vy Chari ), Final Costs {EBHeet2 /4 Shasts f 1l 1 ﬂ_lJ
Ready

Hstar|| 1] @ 5 ) || Elpob 2 - bizwsoltword | —yZEN | (N Dubz - | swear-Wind.. | [ Microsoft Excel - €L | |l 5l SLENADS 27 1531

(1]
1]
IHI
5]
o2
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S| Ele Edi Yiew [nset Fomat Tools [Dats  Window Help Type a question forhelp. EISIE %
DEEHoY SAY | BR-2 | o- o8> -2 3B -0, -~
el LB zUl===8HB %, B8eE 00050
B2 - # 1200 B f~=
A B \ c A F
16
17
18]
119 | STANDARD PACK TICKET AGENT PACK
20
21| Standard Packs Sold Ticket Agent Packs Sold
22 1200 50
123 | Cost per Pack Cost per Pack
24 £5.00 £15.65
|25 | Total Costs Total Costs
26 £6,000.00 £782.50
| 27 | Amount of persons needed to cover costs  [Amount of persons needed to cover costs
28 240 31 i
129
130
|31 |
32
|33
34
|35
36
45 it ot SRR L ! ur
Reardy
Hstar|| 1] @ 5 ) || Elpob 2 - bizwsoltword | —yZEN | (N Dubz - | swear-Wind.. | [ Microsoft Excel - €L | |l 5l SLENADS 27 1531

I cannot show a screen shot for this, but by comparing data in the table above with the
data given in the booklet, I can prove that the answers are correctand that all procedures

have been taken to produce correct answers.

[ Ele Edi Yiew lnset Fomat Toolks [Dats  Window Help Type a question forhelp. EISIE %
DRy SRy § Bl oo =202 04805 -0, ~
- ial A8 Il EESEHEP %, BiE|EE D-'.{‘ -
c28 - & =C26/25 T{
A B | c B S
16
17| Y |
i Humber | dligrment | Fort | Border | Pattsms | Protection |
19 STANI  cateory: I—Sample— AGENT PACK
20 a1 ‘
21 Standlal [ Decmal places: [T <] bnt Packs Sold
Date
22 Time ¥ Use 1000 Separator {,) 50
23 Cosfffzi= S per Pack
Scientif -1,234 = P
24 i 1,hss £15.65
| Es
25 i | e o e : bl Costs
26 £782.50
_21 Amount of PEISONS | ke s used for general display of numbers. Currency and Accounting needed to cover costs
28 offer specialized Formatting For maonetary value, 31.30 =
29
30 Cancel
3
32
33
| 34
35
36
e e, Final cont ARG 2R RACk 141 | ﬂf‘
Ready
Hstar|| 1] @ 5 ) || Elpob 2 - bizwsoltword | —yZEN | 11N Dubz - | swear-Wind.. | [ ] Microsoft Excel - €L | Sl SLEIAD0 A1) 1533
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The actual answer would be 31.20, but I have rounded it to the nearest whole number,
which shows as 31.
S| Ele Edi Yiew [nset Fomat Tools [Dats  Window Help Type a question forhelp. EISIE %
DEEHoY SAY | BR-2 | o- o8> -2 3B -0, ~
Al W - Bz ===089%, 495 0 -
C31 - = T{
A B | 5 | bi
16
17
18]
119 | STANDARD PACK TICKET AGENT PACK
20
| 21 | Standard Packs Sold Ticket Agent Packs Sold
2 1200 50
123 | Cost per Pack Cost per Pack
24 £5.00 £15.65
|25 | Total Costs Total Costs
26 £6,000.00 £782.50
| 27 | Amount of persons needed to cover costs  [Amount of persons needed to cover costs
28 240 31 i
129
130
31| [ I
32
|33
34
|35
36
45 it ot SRR L ! ur
Reardy
Hstar|| 1] @ 5 ) || Elpob 2 - bizwsoltword | —yZEN | (1N Dubz - | swear-ind.. | [ Microsoft Excel - €L | | Bl SLEN DD A7) 1534
S| Ele Edi Yiew [nset Fomat Tools [Dats  Window Help Type a question forhelp. EISIE %
DEEHoY SAY | BR-2 | o- o8> -2 3B -0,
: Al s B U ES=SEHE%, B8 EE O-P-A
02|z &
A B | c [ § 3
16 !
17 % =
18]
119 | STANDARD PACK TICKET AGENT PACK
20
| 21 | Standard Packs Sold Ticket Agent Packs Sold
2 1200 50
123 | Cost per Pack Cost per Pack
24 £5.00 £15.65
|25 | Total Costs Total Costs
26 £6,000.00 £782.50
| 27 | Amount of persons needed to cover costs  [Amount of persons needed to cover costs
28 240 31 i
129
130
31
32 I |
33
34
|35
36
45 it ot SRR L ! ur
Reardy
Hstar|| 1] @ 5 ) || Elpob 2 - bizwsoltword | —yZEN | (1N Dubz - | swear-ind.. | [ Microsoft Excel - €L | | Bl SLEN DD A7) 1534
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Evaluation

Now that I have finally completed the task in hand I @n go through an overview of the
stages. My initial task was to create a system for Barry, who is currently responsible for

marketing and he wants some help with working out costs for his latest idea of creating

DVDs showing the different attractions at the park.

The job itself demanded
concentration as the formulas

| needed precise references to get

accurate results otherwise

1

| consequently the output would
be negative. However now that
I have completed it all and it

all fits in I could have

1 o

‘.:H: : = pusSEgY i Mﬁr.'n:r.'-éf-’?" improved and refined a few

“E.‘ B s TE fﬂn_h?'ﬁ-_'-' ==

[LARRITE, i e STy ; : .

i g et ] B == minor details such as the spacing between the tables
gl

and grids. On the next page there is a checklist showing what I did correcty and what

needed to be refined, also if it was done correctly.
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Item Was it done What could be improved?

correctly?

Must show all costs. YES

I could have refined the
Validation YES message rather than put in
a simple error code for the

validation rule.

I could have made the
formulas more accurate by
Calculations YES adding in a backup
references, I did do do in
some cases but did not

apply it to all calculations.

I feel now that I kept the
tables to close together and
it is not a comfortable to the
Layout YES (According to eye as first indented. Maybe
plan) if I had split it up within two
sheets then it would have

been less clustered.
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